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W 6.625 BERE T HET © (A) 110.101, (B) 101.110, (C) 110.001, (D) 111.101

R P BTN (A) 6.C, (B) 6.5, (C) 6.A, (D) 6.1 -

Baxs iR /T T =T - RIS -98 EEK two’s complement F&F(HY Z#EAr T3 T EEFAEK -

(A) 10011110, (B) 01101011, (C) 11101011, (D) 00010101 -

HE—{EA ZENRIEERIY = H &2 (A) Blue, (B) Yellow, (C) Magenta, (D) Cyan °
THEHA—fESEREIN A E=EK? (A) main memory, (B) cache memory, (C) register, (D) read-only memory ©
THIA—(E LA R 2 (A) Register, (B) Hard Disk, (C) Printer, (D) Tape ©

H— Mt EF bR 16 Z1%AVeRE > T H M HEHEEER ? (A) OR 0x0F, (B) AND 0x0F, (C) AND
0x10, (D) XOR 0x10 o

FEFCGELETI - EMFIIEIRERS » IR/ DVENSE - &8 FTETEERSEREESEE 7 (A) Queue,

(B) Stack, (C) Pointer, (D) Array °

I A B EEEHIR R GG TR SR ENIGF » R E—E A S 5 [EERE - S EEER
ARE - TR/ DRAVIREE - T REE 5 (HERERZE S—EEAE B? (A) 1 K, (B) 32 %K, (C) 31 =X,

(D)5 K -

H—E o - 0B — - FRAREE LKA (depth-first traversal) 5RH& » i DA 77 75 2R (infix-order
traversal) » HIEf 455 B2 (A) ABCDEFG, (B) AEFBCDG, (C) ABECDFG, (D) CBDAFEG -

A A 248 e RV EEN 7 E 7 (A) https, (B) fip, (C) MPEG21, (D) TCP/IP -

B ESE 24k AHY/NMETZ(bootstrap process) » 38 BAEWIEE? (A) ROM, (B) RAM, (C) TFHE,

(D) Cache memory °

e —1Eg Z TiBi(full binary tree) - EBIHVEI R (node)BL H & 31 » SR HEBIIVER 2/02 (A) 31,

(B) 32, (C) 4, (D) 5 -

HEHCY, KFEFEREBSRIEER L EERBOE R SH5tE 3=2(A)4,(B)3,(C)10,(D)N-
T 4EfESIE S int A[100][100]; EEEFTTEELL T IIEHESL ) (row major order) T 0 HEEETRN
Fy 2 Bytes » {1[E =F7R » BARJTE A[10][10] BV EBESE TSRS A[1][1] JTEZ /) Bytes YA E?
(A) 100, (B) 10000, (C) 910, (D) 1820 «
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o B R E R AR (99)16 OR [NOT (33)14] ©
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H—HEEEE 1 +(Q+3)*4+5)%6 » BEesTEFHREE » s BEHAESESH " BFFERE | (Postfix
Notation ) ©

BT DL T s BT SETERIE 8 fL7T(8 bits) VBT (18)16 + (EF)16 ISR Fofn]?
FEFERE I H - BIREEOURE - 28 IR 00] LISy By call by value £ call by reference 75z, > X >
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int combin(int n,int k)
{
if (k==0 || n==k)
return(1);
else return(combin(n-1,k)+combin(n-2,k-1));

}
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A[100][100] =

| %1001

100100 |

void swap (int a , int b){
int temp=a;

a=b;

b=temp;

printf(" %d %d ", a, b);
}
int main(){

int a=10,b=5;

swap(a, b);

printf(" %d %d ", a, b);

}
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typedef struct NODE {
int data;

struct node *link;
} *node;

1| node pre, cur;




